V=30 V=40 V =50 V =60 V=70 V=80 V=90 V =100 V=110
R* L L L L L
e e e e e e e e e
2In | 41n 2In | 41In 2In | 41In 2In| 41In 2In| 41In 2In| 41In 2In | 41In 2In | 41In 2In| 41In
7000 NC| O 0 INC| O 0 INC| O 0 [NC| O 0 [NC| O 0 INC| O 0 INC| O 0 INC| O 0 INC| O 0
5000 NC| O 0 NC| O 0 NC| O 0 NC| O 0 NC| O 0 NC| O 0 NC | O 0 NC| O 0 NC| O 0
3000 NC| O 0 INC| O 0 INC| O 0 JNC| O 0 [NC| O 0 [NC| O 0 INC| O 0 JRC| 16 | 25 | 2.1 | 18 | 28
2500 NC| O 0 NC| O 0 NC| O 0 NC| O 0 NC| O 0 NC| O 0 RC| 15 | 23 ) 21| 17 | 26 | 24 | 21 | 32
2000 NC| O 0 INC| O 0 INC| O 0 [NC| O 0 JNC| O 0 JRC| 14 | 22 122 | 17 | 25|26 | 21 | 32 ] 3 | 26 | 40
1500 NC| O 0 NC| O 0 NC| O 0 NC| O 0 RC| 13 | 20 y 24 | 17 | 26 | 28 | 21 | 32 | 34 | 28 | 42 ] 39| 34 | 51
1400 NC| O 0 INC| O 0 INC| O 0 JRC| 12 | 18 ) 21| 14 | 21 ] 25| 18 | 27| 3 | 23 | 34136 | 29 | 44 )41 | 35 | 54
1300 NC| O 0 NC | O 0 NC | O 0 RC| 12 | 18 y 22 | 14 | 22 27| 19 | 29 )32 | 25 | 37 ) 38| 31 | 471 44 | 39 | 58
1200 NC| O 0 INC| O 0 INC| O 0 JRC| 12 | 18 ] 24 | 15 | 24 129 | 21 | 31 |34 | 26 | 39 |41 | 34 | 50 | 47| 41 | 62
1000 NC| O 0 NC | O 0 RC| 11 | 17 J 22| 13 | 20 } 28 | 18 | 27 | 34 | 24 | 37 4 31 | 46 | 48| 39 | 59 | 55| 48 | 72
900 NC| O 0 INC| O 0 JRC| 11 | 17 ] 24 | 14 | 22 ] 31| 20 | 30 | 37| 27 | 40 | 44 | 34 | 51 )52 | 43 | 64] 6 | 53| 79
800 NC| O 0 NC | O 0 RC| 11 | 17 § 27| 15 | 24} 34| 22 | 33141 | 30 | 4448 | 37 | 55 | 57| 47 | 70 | 6.6 | 58 | 87
700 NC| O 0O JRC| 10 | 15 )22 | 12 | 18] 3 | 18 | 27 | 38| 25 | 37 | 45| 32 | 49|53 | 41 | 61163 | 52 | 77})72| 63| 95
600 NC| O 0 RC| 10 | 15 )26 | 14 | 22 34| 20 | 31 1 43| 28 | 42 |} 51| 37 | 55 6 46 | 69 | 6.9 | 55 | 85 | 7.7 | 68 | 101
500 NC| O 0 J22 |11 17] 3 17 | 25139 | 23 | 35149 | 32 | 48| 58| 42 | 63 )67 |51 | 77175 62| 93| 8 | 70 | 105
400 RC| 10 | 14y 27| 14 | 21 | 36 | 20 | 30 | 47 | 28 | 42 | 57| 37 | 56 | 65| 48 | 71 | 75 | 57 | 86 8 65 | 98 Rpmin = 500
300 21| 10 | 15 )34 | 17 | 26 | 45| 25 | 37 | 56| 34 | 50 | 67| 44 | 66 | 7.6 | 55 | 82 Rumin = 305 Rumin = 395
250 25| 12 | 18 4 21 | 31} 51| 28| 42 )62 | 37 | 56 |74| 48 | 73179 | 57 | 85
200 3 | 14| 22146 | 24 | 35|58 32| 48| 7 | 42 | 63]79)| 52| 78 Rmin = 230
175 34| 16 | 24 5 26 | 39162 | 34 | 52 74| 44 | 67 8 52 | 79
150 38| 18 | 27 | 54 | 28 | 42 )67 | 37 | 56 | 7.8 | 47 | 70 Riin = 175
140 4 19 | 29 )56 | 29 | 43169 | 38 | 57 | 79| 47 | 71 Notes:
150 e Z L2 LS Lens |3 Lo | Lok Lo £ 9 | 1. This figure applies to open-road conditions.
120 a4 21 321 6 31 48174 4l @ 6l Ruin = 125 2. For applicable maximum side-friction factors for the various
0 ci o L | 08 SR L e 5 design speeds, see Figure 43-2A
100 5 24 | 36165 34 51}78] 43 65 3. R in values a’re rounded to the nearest 5m.
90 52| 25 | 37 | 69| 35 | 53] 79| 44 | 66 mn
: : — V = Design speed (km/h)
60 64 | 1 46 178 40 60 e = Superelevation rate (Percent)
28 6752 22 gg 8 R _41= 50 62 L = Minimum length of superelevation runoff (from adverse
: — cross slope removed to full super)
=0 g R _3i 30 =g 2Ln= L for 2-lane, 2-way roadway rotated about the centerline
— 4Ln= L for4-lane divided highway rotated about the two median
* I_:or curve_radii intermegliate between Iisteq values, use a straight-line NC = lilci;grenial Crown
interpolation to determine the superelevation rate. RC = Remove (adverse) crown

RATE OF SUPERELEVATION AND LENGTH OF SUPERELEVATION RUNOFF
(Rural Highways and High-Speed Urban Highways) emax = 8%
Figure 43-3A;




